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9 =% = 1+/ )«
q=1 = (v) -~ (3)
(©)] -1 _y
(3) qg-1 x
pXx=x = qy-y
px =gy = x-=y is the required p.d.e.

Example 1.2(a)(3) : Eliminate the arbitrary function f from
/

z=f (’E) and form a partial differential equation.

[A.U. Trichy N/D 2009][A.U N/D 2012]

Solution : Given : z = f (ﬁ) . (1) af
f
Differentiating (1) p.w.r. to x, we get
1
=9z _ o(y) (=
o ax (JC) (xz) e (2) S owe useIy
on

Differentiating (1) p.w.r. to y, we get Sa\ _G :
_ 9z _ 4 (y){ao\e

Therefore  px = —gy

ie, px+qy = 0 is the required p.d.c.
Example 1.2(a)(4)

Form the p.de. by eliminating f from

z=f(x+y).

a.f
Solution : z = f(x +y) - (1)
f
Differentiating (1) p.w.r. to x, we get
1
p= =ty SR I
A p & q only

Differentiating (1) p.w.r. to y, we get




